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Note : (i) Answer any five questions. 

 (ii) All questions carry equal marks.  

1. (a) Match the following : 5×1=5 

     A       B 

(i) Input (1) Provide 3-D 

structures 

(ii) Protein 

Data Bank 

(2) Global alignment 

(iii) RasMol (3) Spreadsheet 

(iv) Needleman-

Wunsch 

algorithm 

(4) Keyboard 

(v) Microsoft 

Excel 

(5) Visualisation tool 
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(b) Fill in the blanks : 5×1=5 

(i) Expand CADD .................. . 

(ii) .................. deals with the study of the 

holistic genes and genetic elements.  

(iii) Expand WWW .................. . 

(iv) DDBJ is a .................. database.  

(v) .................. database is related to 

classification of protein families.  

2. Describe any two of the following : 2×5=10 

(a) Scope of bioinformatics  

(b) Nucleotide database 

(c) Types of sequence alignment  

3. Differentiate between the following : 2×5=10 

(a) Sequence identity and sequence homology  

(b) Primary and secondary database  

4. (a) Write the basic characteristics of an ideal 

biological database.  5 

(b) Define search engine. Enlist any four 

applications of a search engine with a 

suitable example.  5 
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5. Write short notes on any two of the following : 

2×5=10 

(a) Microsoft Office Word  

(b) Applications of bioinformatics 

(c) Pubchem  

6. Expand the following acronyms : 10×1=10 

(i) NCBI 

(ii) BLAST 

(iii) WAN 

(iv) MSA 

(v) PAM 

(vi) PCR 

(vii) GUI 

(viii) EBI 

(ix) RCSB 

(x) CPU 

7. Define any four of the following with suitable 

examples :  4× 1
2

2 =10 

(i) Protein Data Bank 

(ii) LAN 

(iii) E-mail 

(iv) Structural database 

(v) Drug Bank 
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(i) 

(ii) 

5×1=5 

    A      B 

(i) 3-D

(ii) 
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(iii) 

(RasMol)

(iv) 

(v) 

5×1=5 

(i) CADD 

(ii)

(iii) WWW

(iv) DDBJ

(v)

2×5=10 

(i)
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(ii)

(iii)

2×5=10

(i) (identity)

(homology) 

(ii)

(search engine)

2×5=10

(i)

(ii)

(iii) (Pubchem)

10×1=10 

(i) NCBI 
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(ii) BLAST 

(iii) WAN 

(iv) MSA 

(v) PAM 

(vi) PCR 

(vii) GUI 

(viii) EBI 

(ix) RCSB 

(x) CPU 

4× 1
2

2 =10 

(i)

(ii) LAN 

(iii) E-mail 

(iv)

(v)
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